12
1
N - ¢ ) [> ouT
= 30 +s 1
R1
1T R2
o 1e5 -
)
Create Subcircuit: Operational Amplifier
|K| K1
K_Linear
COUPLING =1 R2
do
L3=1Is2 .
R1 {LP/(N*N)}
pr-1 1
im Lp1
{LP} sec-gnd
pr-2 2
{LP/(N*N)}
R3
sec-2
PARAMETERS: m
p=1
N=1
Create Subcircuit: Transformer
U1A
1
3
2 < Q
CD4001B
U2A
1
3
) <o tar
CD4001B
Create Subcircuit: SR Latch
General | Analysis | Include Files] Libraries] Stimulus  Options lData Caollection ] Probe Window]
OFTION
Categary: ( )
A S 0 Relative accuracy of ¥'s and I's: 0.0m (RELTOL)
gate t?fel Sirmulation Best accuracy of voltages: 1.0u volts WNTOL)
utputfile
P Best accuracy of currents: 1.0p amps (ABSTOL)
Best accuracy of charges: 0.01p coulombs (CHGTOL)
Minimurm conductance for any branch: 10E-12  1/ahm (GMIM
DC and bias "blind" iteration limit: 150 (ITL1}
DC and bias "best guess iteration limit: |20 ITLZ)
Transienttime point iteration limit: 10 (ITL4)
Default nominal temperature: 2ra C (THOM)
[ Use GMIN stepping to improve convergence. (STEPGMIN)
[ Use preordering ta reduce matrix fill-in. (PREORDEF)
MOSFET Options... | Adwvanced Options... ‘ Reset ‘
oK | Cancel | ‘ Help

Convergence Problems: Options




